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1) WIAGUR Fcs AT THET H STRA?

37) ORI ATHAUITATT RET0T hof ) AT AT FHERAT IrGOT

) IRNT AT A BRI ®) Fafa wEmdT ug W=l

1) th 3T 3foT & 2) ®th &

3) 37 AMOT & 4) 3, F AT T

Which of the following are the obligatory functions of the government?

a) To protect from external attacks b) Maintaining internal law and order

¢) To provide health services d) To recruit for administrative posts regularly.
1) Only a and b 2) Only c

3) Only a and ¢ 4) a, b and d

2)  Wiols U ST & T Iy faaA Faern
3N SIS O FagR & WPl 9 agRIUET s Sared Tadrd.
) WP 9T 48R & AT O FagRivel e Faie THdrd.
&) ATESTHS [Od FI8R & TePil [od FAagRigeT ATod daied Tadrd.
) WP 9T AgR § A1asi-eh O FIgRivelT e Fafed TEdrd.
1) eh 37 3for & 2) <h & AIOT &
3) & T € 4) ITUHT TR
Consider the following sentences and choose the correct sentence/s?
a) Public finances are more elastic than private finances.
b) Private finances are not more elastic than public finances
¢) Public finances are not more elastic than private finances.
d) Private finances are more elastic than public finances
1) Only a and b 2) Only b and ¢
3) Only ¢ and d 4) None of these.

3)  Wolo U™ Sed =T T Iy [Ju/A et
37) g Slocd AT Ad, A (o0 HGER &1 FUTH 0T I3 AT ARSI
T 99T ST,
) uT. fheey BRI e 94, smaamar [ 3YROT SfoT W RulEed STl daidl
AT BUTS] AESIHeh [od F9gR g,
1) %<h 37 2) %th o
3) SI=er 37 3T & 4) THET AT
Consider the following sentences and choose the correct sentence/s?
a) According to Hugh Dalton, Public finance is a subject which lies on boundaryline of
economics and politics.
b) According to Prof. Findlay Shirras, Public finance is study of principles for raising and
spending of fund by government.
1) Only a 2) Only b
3) Only a and b 4) None of these.
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4) TGS Held I T THR F3S aa?

1) 3T ol STOT TRl hol 2) FXHRT ol N7 WIS ol
3) Thg ol ITOT ST hol 4) FTYRYT ol AT 2 &l
Which are the two main types of public debt?

1) Internal debt and external debt 2) Public debt and private debt
3) Central debt and state debt 4) Simple debt and special debt

5)  WIAHGUD F3 AT o RO geeh 3Tea?

3N ATESIHE o

) Wéaﬁf ‘4—&'?15'7

<h) HTISTHh hs

1) eh 37 3for & 2) %th § 3Nfor &
3) %th & 4) 3, F SAOT &

Which of the following are factors of fiscal policy?

a) public expenditure

b) public revenue

¢) public debt

1) Only a and b 2) Only b and ¢
3) Only ¢ 4) a, b and ¢

6) “BIed WAHA AR dHaqdd FR MAT He MDA ST GdTd 986 F8dT T

I TSI [T ITed FoIT e R?
1) IR [Fere 2) AHEhE JUR
3) 4) g Slec

“People themselves will change structure of income and expenditure by collecting taxes upto
certain level voluntarily” who said above statement about public finance?

1) Eric Lindal 2) Alfred Wagner

3) Keynes 4) Hugh Dalton.

7)  ATESIeh @EdT TS Risgid ol Aigar

1) 9. 7] 2) . FIUT

3) TUhien 3MfoT ATgsTae 4) T 41, &%
Who proposed modern theory of public expenditure?

1) Prof. Pigu 2) Dr. Masgrev
3) Peacock and Wiseman 4) A. P. Learner
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8) “STHSTAT IR WY I addy TSI A FHHT gid STee HIROT STRATET SRR
T IFIATEh oXdl.” T [A9R FHolt Ao
1) g eleed 2) 9. T
3) S FEUT 4) WSTRT IT
Who proposed the thought as “ As public expenditure increases , social benefit decreases.
Since excess public expenditure is not productive. ”
1) Hugh Daltan 2) Prof. Pigu
3) Dr. Masgrev 4) All of the above
9) ATFSI- fadraT HEAtHES od Rgidi R $oor 1A S7ang 31e?
1) IR G fod 39RTME.
2) IR IR IR dTaT S97dT.
3) IRPRA TTFIRIT (IR FHrar
4) UT ISR JTdeol IS0 YUIIUT JTSTR TR 3174
According to functional finance theory of public expenditure, Choose the incorrect option.
1) Government should raise its own finances.
2) Government should control business cycle.
3) Government should develop economy.
4) It should be completely market based, to attain complete employment level.
10) WIS [AAATERTAT T Ah Fed A0 MM AR A=T THEART ATHIH
T HeT.
1) AT e 2) Tho5IT 2%
3) 3feH Ty 4) . TH, F
Who first considered economic growth and economic development as a part of public
finances?
1) Ursula Hicks 2) Filip Taylor
3) Adam Smith 4) J. M. Keynes
11) HHTSITAT Uehex RS YR hivTd?

37) ATIETIA® IR ) WeHT IR
%) OTH RS 2) AT RS
1) 37, § 3707 & 2) ¥, % INOT S
3) 37 3MfoT & 4H T s
Which are the overall types of needs in society?

a) Community needs b) Private needs
¢) Qualitative needs d) Societal needs
1) a, b and ¢ 2) b, c and d

3) aand b 4) b and d
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12) Wol® UM SeTd = anfor ang a4 Fasr.
3T) IYH FIAA “THeATITRRT IT” & AhedT WIhd H0ITd Aol 3Ta.
) “UME FRATIT YT ;T 2Tohd ATe!, B ARBRST [Texardr e =t e
1) th 37 2) BTh &

3) @Il 31 AT 4) TERgl AT

Consider the following sentences and choose the correct sentence/s?

a) In modern times “welfare state” approach is accepted.
b) Water Baghat proposed the idea, "money can’t manage itself, hence government need to

take a role of trustee.”

1) Only a 2) Only b
3) Only a and b 4) None of these.
13) I STrer eadr
N E DEIECE ) T I (ASAE GETd TR
3 . fog i) TTURTS | AT g @
) WT. Ty PR i) BEATaOT 3NOT AgZATa=ong &9
) AT I TRRT iii) antder anfor TS 3IRE, T=REToT
©) UT. ST, . Hgar iv) = snfor arfee =<
CORNC) RGO RN

1 i ii iii iv

2) i i iii iv

3) iv iii ii i

4) i i iv iii
Match the pair

‘A’ (Economist) ‘B’ (Classification of public expenditure)

a) Prof. Pigu i) Primary And secondary expenditure

b) Prof. Findley Shirras ii) Transferrable and non transferable expenditure
¢) Mrs. Ursula Hicks iii) Economic and social objectives, defence

d) Prof. J. K. Mehata iv) Stable and unstable expenditure

@ ® © @
i i di v
2) i i i v
3 iv i i i

4) i i iv iii
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14) WIAHGUR FoT TETes ATGSI e T drad A

37) APRIHIIT ENRUEHIE]

&) s FEs 2) UgTOTH ATIH

)3, 9, h 2) 3, %, S

3) A, T, S 4) H, 9, H, S

Due to which of the following reasons , public expenditure increases?

a) Urbanization b) Democracy

¢) Economic Planning d) calamities due to pollution.
1) a, b, c 2)a, ¢ d

3)a, b, d 4) a, b, c, d

15) Wil U el = anfor g a4 Haer.
3T) RATT TRIHedIT T 0T f[ashrr sfor fooR e @< o =i
) TRATT IR T FITRROT 1987-88 URIA it 3nfor o fHanfora @< ot 2.

) ARATT TIRAHUT Gard TIMHROT 2017-18 TRIT TISHHAT 0T TR AT @ 37 378,
1) T 2) Feh &
3) Tch 6 4) Tehgl 1Y

Consider the following sentences and choose the incorrect sentence/s?

a) The classification of budgetary expenditure was developmental and non developmental.
b) The classification of budgetary expenditure was planned and non planned since 1987-88.
¢) The classification of budgetary expenditure is scheme expenditure and expenditure other
than schemes since 2017-18.

1) Only a 2) Only b

3) Only ¢ 4) None of these.

16) I[ATITRA FTURAHBICIHATST 1T ST BIH?
37) Hhieud ARTIET JSIHT IR el STl
ENECIERET IS tb_co*%’vﬁ STHTET ST
%) Fehal ORI held T T I B ?l‘@ =T <&7dT 9ot
) MR [THRTAT STHGSSTaoT &rdsT T4,
1) %h<h A 2) ®th o
3) %h & 4) B7hH
What would be wrong about zero based budget?
a) Proposed demands are considered radically.
b) Outcomes of new projects is tested.
¢) It is taken care that mistakes should not happen rather than improve on past mistakes.
d) There is no autonomy to administrative divisions in implementation.
1) Only a 2) Only b
3) Only ¢ 4) Only d
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17) WIAHGUR Focs FRTIIRA TIThedTe THRIHSE 0T STRA?
37) AT AT BTHTHHAT AT A I I QU SR 3T-Ad.
) TIATeh @dATd HUTd hal Id.
) Hth hald AT YT TS SPTd.
1) ®<h & 2) Wth 3T 3MfoT &
3) th & 4) 99 T 3Me4.

Which of the following are positive qualities of zero based budget?

a) Beneficiaries of scheme last year are bound to be given benefits next year also.
b) Non productive expenditures can be reduced.

¢) Only central schemes are given priority.

1) Only b 2) Only a and b

3) Only c 4) All are correct

18) e riidheuaTad Wole U™ Seltd =1 NfoT 3y a4 Faer.
31 1953 T S ST T Ygiediar &l Fhed-T Higo.

) Hhaes Hifdes sy Jiser I

%) e TRIRIT JIHROT SN AT Jehed-dl ANTEYS I gade! gl
1) %< 3T 2) Wth 37 STOT &

3) eh & 4) 99 INY TR,

Consider following sentences about Performance budget and choose the incorrect sentence/s.
a) This concept was first proposed by Dean Appleby in 1953.

b) Only physical outcomes are measured.

¢) First administrative reform commission suggested guiding principle for this concept.

1) Only a 2) Only a and ¢

3) Only b 4) All are correct

19) HRATET MTYH IIEUN AT T HATHATAT FHocAl [THFITGIR TehiRTd shasl STTal?

NREERELIRN 2) Hege Tor¥mT
RERIEREIRERINE 4) Tw TR foymT

By which department of finance ministry is economic survey of India published?

1) Department of expenditure 2) Department of revenue

3) Department of financial services 4) Department of economic affairs.
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20) WG U SEATT &7 0T FIRT o=/~ Haer.
3N B S SERUTIT RYT, RIS &1 1993 BT W& STl
) Thea<l 2020 ST AT AMAR FTHT Sieosl ASA ST SERATIT =T, BRIGEE 3T
FHRUGTA 3T,
) AT TRAT T GATE AT,
1) Wh 3T 2) Th 3T AT &
3) %Th & 4) Tehel TEN
Consider the following sentences and choose the incorrect sentence/s.
a) National Institute of Financial Management, Faridabad was established in 1993.
b) It was renamed in February 2020 as Arun Jaitely National Institute of Financial Management,
Faridabad.
¢) Prime Minister is head of the institute.
1) Only a 2) Only a and c
3) Only ¢ 4) None of these.
21) IRY SISl S oo dl

I ST () T I (@RIR)
3N 202 IS ERESIEREEEY)
) 204 i) ¥ AT
%) 205 iii) frziT see=
) 206 VAEIREISEREREED

CORNC) N CORNC)

1) i ii iii iv

2) i ii iv iii

3 i iv ii iii

4) i iii iv ii
Match the pair

‘A’ (Articles) ‘B’ (Provision)
a) 202 i) Annual financial statement
b) 204 ii) Supplementary grants
c) 205 iii) Exceptional grants
d) 206 iv) Appropriation bills

@ O © @

1) i ii iii iv

2) i ii iv iii

3 i iv ii iii

4 i iii iv ii
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22) 1985-86 AT TYHHheUd URUMA IATAIRT IR TILATT AOT0ATH STATTZIHRAT
FIRTET Hes TS, & URT o faae=i= Al ga?
1) YOI &SIt A RHECREE]
3) =1, 1. &7 4) gHreT =T
It was highlighted in budget of 1985-86 that there is ardent need to bring zero based budget
in practice. Which finance minister proposed that budget?

1) Pranav Mukharjee 2) Yashawant Sinha
3) V. P. Singh 4) Manmohan Singh
23) WSIGUD T AHRY HAR I AT 3ME?
37 Frjdaue e ) TSI ARSSATTYT TS
%) 38 I 3) IR
1) 99 I°T e, 2) 37 OT &
3) 31, ¥ foT & 4) Bth ©
Which of the following are non tax revenue of government?
a) Income from disinvestment b) Fund from public accounts
¢) Income from fines d) Surcharge
1) All are correct 2) a and ¢
3) a, band c 4) Only d

24) WISIGTH FSHT T IRFBRAT JIS-aR AAHATHE Aol T 3TTAr?

3T) SATST FdT ) IS
%) T2 ¥) Tea ATl @
1) Th 3T 37T § 2) B 3T
3) 3T, & IMOT § 4) 3,9, H, S
Which of the following expenditure is non developmental non scheme revenue expenditure?
a) Interest payments b) grants
C) pension d) payment on defence equipments
1) Only a and d 2) Only a
3)a, cand d 4) a, b, c, d
25) WIHIGUH! HoedT qerdr HaH AHhed AT Id ATal?
3T) ITuHE T ) ISAITISD T
%) ITATHSE I ¥) URUTHT 789 T
1) <k & 3NfoT & 2) Wth 3T ATMOT ©
3) %th & 4) 7, T, H, S
Which of the following deficits are not mentioned in budget document?
a) Primary deficit b) Monetised deficit
¢) Structural deficit d) Effective revenue deficit
1) Only b and ¢ 2) Only a and d
3) Only ¢ 4)a, b, c,d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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26) ARUTHT HEIST e T9d WIS [ S e snfor sy Iy M.
3T) =TSt 2ol 9T % fohll e ST STdl § SRIvarTe! URUHT Hevgo! e hledid.
) & de HISTOr 2011-12 A Y& FHI0AT 31T,
%) 2015 T & qe T oA AT 2.
1) h 3T 2) Th 3T 30T &
3) % & 4) ThET el
Consider the following sentences about effective revenue deficit and choose the incorrect
sentence/s.
a) Effective revenue deficit is calculated in order to show how much could be deficit had
interest payments were not to be paid.
b) This deficit is started calculating in 2011-12.
¢) Objective was to make it zero by 2015.
1) Only a 2) Only a and ¢
3) Only ¢ 4) None of these.

27) 3T 9IE [Rder.
1) ISTHE e = ARHRET Fedes ol 39RO + gav 2ofr
2) JSTRYTT G = THT G - (T ST + TTHTHT + TTdT-eh ATAHAT TI3hIdT HebTohes 30
3) JASTHNY I = THUT 9 - [T ST + [SR Tl HigTosl ST
4) Thel T,
Choose the incorrect option.
1) Fiscal deficit = Governments net debt fund + Other liabilities
2) Fiscal deficit = Total expenditure — (Revenue receipts + Recovery + Sale of public assets)
3) Fiscal deficit = Total expenditure — (Revenue receipts + Non debt capital receipts )
4) None.

28) WSS AU S&Td =& Aor IRy fSum/A et
3N WA TRATT Hisdol @9 Jdd deal 31Te.
) AFNS hlel IuTd Jiedsl T igdsT UTHITeT HaT 32,
%) AT FRIITATS! I het § Il HolTdeT SR 379,
¥) Wigdo! TR el ST Tdd dTed 378,
DA, h 2) A, 9, ¢
)T, H, S 4) 9T INYT ITe4.
Consider the following sentences and choose the correct sentence/s.
a) After independence in India, Capital expenditure increased continuously.
b) Since few years, capital expenditure is less than capital income.
¢) Loans taken for interest payment is greater than current loans.
d) Capital non debt revenue is continuously increasing.
1) a, b, c 2) a, b, d
3) b, c,d 4) All are correct.
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29) 3T HIRONHS Hegoo! WATd Add I gl IRA. AT 2011-12 U FodT IH FEIo G
AT G TR?
1) 2012-13 2) 2018-19
3) 2017-18 4) 2016-17

Revenue expenditure always keeps on increasing due to various reasons. But, since 2011-12

in which year revenue expenditure was actually decreased compared to last year?
1) 2012-13 2) 2018-19
3) 2017-18 4) 2016-17

30) HTYROTYYT I shA Hael.

1) ISTHRINET e > TEgon e > URITHT Fesdol e > Wi de

2) FEIo! e > JASTHNT de > RO gl e > WIS e

3) JASTHN e > AT d > UAHS e > TR Fee e

4) IASTHNET ge > s de > IRuTH Jeger de > qegel a2

Choose the correct sequence in general.

1) Fiscal deficit > Revenue deficit > Effective revenue deficit > Primary deficit
2) Revenue deficit > Fiscal deficit > Effective revenue deficit > Primary deficit
3) Fiscal deficit > Revenue deficit > Primary deficit > Effective revenue deficit

4) Fiscal deficit > Primary deficit > Effective revenue deficit > Revenue deficit

31) Wl (a9 ST & 3nfor ang foas/A Faer.
37) 1977- 78 AT FAHHCITANIT he TARBRT HW TIR G AT IR FXoqTd D1
A5 FRIGT AT
) 1977- 78 AT AYHARATIRIT 5T IRERT W TAR FHROAT 0T IRIETT HRUAT HIH
A5 FRGTA AT,
1) %h 3T 2) Tk &

3) 3t anfor & 4) ST ATEN

Consider the following sentences and choose the correct sentence/s.

a) Since budget of 1977- 78, auditing and accounting function of central government are
separated.

b) Since budget of 1977-78, auditing and accounting function of state government are

separated.
1) Only a 2) Only b
3) aand b 4) None
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32)  WRATAT HEIGETIRIETR S19d Wols U SelTd = nfor g a4 Faer.
37) WRATT & U 1919 =T AW - IRI%s JURUT d9R H0aTd 3Te.
) AIETAT FSH 148 TAR, HEISETIRIFR a7  JTAT AFIAT ST,
%) ATTIHTAT FAH 148 THAR, HEHETIRIGTHRT TIMTHR ATIRR IFIAT STdT.
1) 3 fifor 9 2) § 30T &
3) 37 0T & 4) Th 3.
Consider the following sentences about Comptroller and auditor general of India and choose
the correct sentence/s.
a) This post in India was created according to Montegue —Chelmsford reforms of 1919.
b) According to article 148, salary and condition of service of CAG is decided by President.
¢) According to article 148, administrative powers of CAG is decided by President.
1) aand b 2) b and c
3) a and ¢ 4) Only a.

33)  IieTST AT S19d FART a4 e
3T TS 3 TS nfdes it & afdr Tard Jer 3Te.
) A 9GS ATATGT UhrE! T I Hae hedld.
%) e STOT IRATHS JUROT 2 AT oo,
B) 1956 T ASHEEAT 22 T& 30 HIUITT TSI,
1) 37 3MfOT & 2) F IMOT E
3) Hth € 4) Tehel TN,
Choose the incorrect sentence/s about Estimate committee.
a) This committee is largest among 3 main committees in parliament.
b) The chairperson of committee is elected by members themselves.
¢) This committee suggests economic and institutional reforms.
d) In 1956, number of members raised from 22 to 30.
1) a and c 2) b and d
3) Only d 4) None

34) Dol JHAl IT9d T [Fa/A Maer.
3T) TISdIS 3 UHE e AmrIhr & AfHdr Jard ST e,
) IT AHATGT AAedT TERHR 3T ey S,
) AT ATHATAT HETST AT o STEUT FOTATd.
©) 1964 UL AT A ergTae (ORI T8TT=ar HS@ThS AHAd.
1) 37 3nfoT & 2) T anfor §
3) %Th § 4) Tehel TN,
Choose the incorrect sentence/s about Public Accounts committee.
a) This committee is oldest among 3 main committees in parliament.
b) The committee is also known as watchdog of parliament .
¢) This committee known as twin sister of estimate committee.
d) Since 1964, its chairmanship is given to member of opposition party.
1) a and ¢ 2) b and d

3) Only d 4) None
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35)  ATASIS IYHE HAHdl 919d 3 [aum/A Haer.
3N S AYTS AT RIS g JHdT UT9T 09T 31T,
) 1974 T AT AHATAT BIHTHAT AT 5 - I HRoATd 3T,
&) ATUROT: A7 AEATAT MEAISER Saed I9T oyl Sid ATar.
1) 37 3T & 2) § foT &
3) 37 fOT § 4) Tehgl ATal.
Choose the incorrect sentence/s about Committee on public undertaking.
a) This committee was set up on recommendation of John Mathai committee.
b) In 1974, number of members to the committee from lok sabha increased by 5.
¢) Generally, report of this committee is not discussed in parliament.
1) a and c 2) b and c
3)aand b 4) None

36) HRTET % STMOT AT EOTRT Hexge WTHT AT A SRIGUIRT TGS INTST 1 FEoTdTa?

1) TrfoeT TR 2) HHIR ThET

3) AT ThIST 4) BT TR

What is a graphical curve line showing relation between tax rate and its revenue collection?
1) Phillips Curve 2) Laffer curve

3) Muller Curve 4) Kunets curve

37)  APY SISAT o] dl

‘3 T

37) THITRIR &2 i) AR

) PTG i) Fm =%

&) ITAITHT iif) SR STTOT AT

CORNCIENCD!
1) i ii iii
2) i i iii
3 i iii ii
4) i iii i
Match the pair

cA, cB,

a) Proportional tax i) Income tax

b) Progressive tax ii) Corporate tax

c) Regressive tax iii) Goods and service tax
@ @® (o

i i i
2) i i iii
3 i di i
4) i i i
hT™l m SR / SPACE FOR ROUGH WORK P.T.O.
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38) WIAIGUD HIA/S AT HT ATRI?
3N HaT F ) TS I HT
%) AT HY/ ST BT ©) ST TTRRT BT
1) ®%h & 2) § 0T &
3) & MOT S 4) B ©
Which of the following is / are not indirect tax?
a) Service tax b) Capital gains tax
¢) Custom duty d) State excise duty
1) Only b 2) b and c
3)cand d 4) Only d
39) IANT YT el
1) I9Theh IR & HTHAT IT TR ATURSST 8.
2) AR & RATHI =TT 3TE.
3) IR HRIGT 1962 TAR AT STHRIAT STl
4) 2018 AT MITARCITIAR TR TR 4% ZTETT MO JRAT ITHR AEGT STl
Choose the incorrect option.
1) Personal income tax is based on principle of tax capacity
2) Income tax is of progressive nature.
3) It is applied according to Income tax act 1962.
4) According to budget 2018, 4% of education and health cess is applied on income tax.
40) FHRIGT FeglR T WISIGUR FSAT HRTAT RIHRT Hosl AT
1) T HT 2) IO R
3) TUPIT R 4) YTHETT Y.
Which tax is not recommended by Nicholas Caldor?
1) Expenditure tax 2) Wealth tax
3) Gift tax 4) Estate tax
41) 3T 99T et

1) FETHEs B TRAT dUd U U=l IR IR AT 1961 THAR STIST STl
2) TRATT 9ETET HX (1996-97) BT HEHSS heril Herdd 31e.
%WWW%TWWWW I Y 2020 IR IE HIOATd AT
4) THAT IRATT AEHED Y & HRATT SHIAIET 20% A IR HU_ITe! 30 % 3ITE.
Choose incorrect option.

1) Corporate tax is levied on income of Indian and foreign companies according to Income
tax act 1961.

2) Minimum alternate tax(1996-97) is related to corporate tax.

3) Dividend distribution tax is related to corporate tax and is abolished since 2020.

4) Currently, Indian corporate tax is levied 20% for Indian companies and 30% for foreign

companies.
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42) FeAATdd TR B IR TEcs I Hoer?
1) BETOT 2) ITSRYTT
3) HeRT® 4) TTHBTG

Which was the first state to implement Value Added Tax(VAT) ?

1) Haryana 2) Rajasthan
3) Maharashtra 4) Tamil Nadu.

43) I T WAT I T hg TRERY $IG HR FANGE 0T 35 Tad?

37) FISATARIS IATARTH IATET Zesh ) HAHRRTERIS Tl

&) AT AT AGATSIaRIS B T) U Y

1) 37 foT ¥ 2) & 3mfoT &

3) 3, 9, € 4) A, 9, %, S

Which taxes of central government are subsumed under Goods and Service tax?

a) Additional duties of excise on textile b) Countervailing duties on custom duty
c) Tax on Lottery and gambling d) Entry tax

1) aand b 2) b and c

3)a, b, d 4)a, b, c d

44) TS [T S & ST AT o/~ Maer
37) SHURACT & RASAER STRRTSAT STl
) SICACT &7 I JTERIA AR A TR 3.
%) 101AT FEAGSHAAR, FHH 279A T STHAST IRYSHT ARqg ATe.
T) ST URYGH 3TeHET YRAT AT ST
1) %h 37 30T & 2) 3, 9, F
3T, h, S 4) 99 I 3Me4.

Consider the following sentences and choose the correct sentence/s.

a) GST is levied on supply of goods and services.

b) GST is origin based rather than destination based.

¢) According to 101st constitutional amendment act, article 279 A provides for GST council.
d) It is headed by Prime minister of India.

1) Only a and ¢ 2)a, b, c

3) b, c,d 4) All are correct
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45) R JUROT AT OT AT RIHRT I SENT SASl 3bET.
1) ISTAGAT AHAT — TIShIPRIGT T ST VAT BB FHeEl.
2) TST AT — HNT H AN
3) U, . ST AN — Hald FTHRT BT VAT SP] 0.
4) [T ho? I - HEHES HIAT =0d 918 .
Identify incorrect pair about tax reform committee and its recommendation.
1) Raja Chelliah Committee — Apply state level VAT which is parallel to sales tax.
2) Raj Committee — Agriculture tax committee
3) L. K. Jha Committee — To apply VAT to Central excise duty.
4) Vijay Kelkar Committee — Increase corporation tax rate.

46) 3T el s,
1) 9.2, ISR - =T & ST 2) . T Ud - T@ET o M
3) HEER AP - r=ar & ST 4) 979, ST, TROT — FLET O AR
Choose incorrect pair
1) P. V. Rajamannar - 4th Finance commission 2) K. C. Pant - 10t Finance commission
3) Mahavir Tyagi - 5t Finance commission 4) Y. B. Chavan - 6! Finance commission

47) 122 ¥ 9T S5¥AT (99 (GST) HHT FRUN HERTE T 31T 3.

1) gfes 2) e
3) ST 4) TEd
Maharshtra is __ th state to agree with 122nd constitutional amendment bill.
1) First 2) Fifth
3) Eighth 4) Tenth

48) WO [T FeITd &1 3NfoT I /4 Haer.
37) HERTY ST (o0 AT 20 TS 1994 ST WATIT ST,
) IoT o AT AT HIT IR,
) AT HERIETA IT=raT o9 ST gy PRRTST I sragfaares! 3Te.
1) %<h & 2) A, 9, h
3) Whth 3T 3MOT & 4) Bh &
Consider the following sentences and choose the correct sentence/s.
a) Maharashtra state finance commission was established on 20 April 1994.
b) State finance commission is a constitutional body.

c) Currently fifth state finance commission is working in Maharashtra under chairmanship
of Vishwanath Giriraj.

1) Only b 2) a, b, c

3) Only a and ¢ 4) Only ¢
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49) “FooTel I g TIHFIARET SFAT a7 ST hal i3 T9.” 3 Hocdl S TH T
3TE?
1) 265 2) 267
3) 268 4) 275
“No tax should be levied or collected except by authority of law”. In which article This

provision is mentioned?
1) 265 2) 267
3) 268 4) 275

50 UURTAT O R Sy 3TOT I1SATe ATCOTT FRUARITST Fo @l RS A hadl 3TT&?

3) I T ) SAATRT T

&) I <) I 4

1) 3, F,H, S 2) A, &, T

3) AT, S 4) & ST §

Which criteria was accepted by fifteenth finance commission for center and state tax
sharing?

a) Income distance b) demographic changes

c) forest d) tax efforts.

1) a, b, c, d 2) a, c d

3)a, b, d 4) cand d
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